

# Representation by sums of ascending even prime powers

Linlin Wang, Qiyu Yang, and Doudou Zhu

Institute of Mathematics, Henan Academy of Sciences, Zhengzhou, Henan 450046, P. R. China qyyang.must@gmail.com

#### Abstract

In this work, we investigate the representation of numbers as sums of powers of prime numbers. It is shown that all sufficiently large integers are sums of some ascending even prime powers.

**2020 Mathematics Subject Classification:** 11P05, 11P55 **Key words:** Warning's problem, Hardy-Littlewood method, prime powers

## 1 Introduction

Roth [11] proved that all sufficiently large positive integers N can be expressed

$$\sum_{i=1}^{s} x_i^{i+1} = N, \tag{1.1}$$

with s = 50. Many predecessors, among them Thanigasalam [13, 14], Vaughan [15, 16], Brüdern [1, 2] and Ford [5, 6], struggled for half a century to improve the above result. The sharpest result was due to Liu and Zhao [10] (s = 13).

In [14], Thanigasalam also considered the equation (1.1) for prime powers and proved that

$$N_1 = \sum_{i=1}^{23} p_i^{i+1}, \quad N_2 = \sum_{i=1}^{24} p_i^{i+1},$$

for sufficiently large odd integers  $N_1$ , and even integers  $N_2$ .

In [3], Brüdern considered the equation (1.1) with even powers only. His result implies in particular that the set of integers representable as

$$N = x_1^2 + x_2^4 + x_3^6 + x_4^8, \quad x_1, x_2, x_3, x_4 \in \mathbb{N},$$

has positive density, but less than 1.

https://doi.org/10.2991/978-94-6463-463-1\_4

<sup>©</sup> The Author(s) 2024

Z. Zheng and T. Wang (eds.), *Proceedings of the International Academic Summer Conference on Number Theory and Information Security (NTIS 2023)*, Advances in Physics Research 9,

In 2020, Kuan et al. [9] proved that

$$N = x_1^2 + x_2^4 + \dots + x_{173}^{346}, \quad x_1, x_2, \dots, x_{173} \in \mathbb{N},$$

for all sufficiently large natural number N.

Incorporating a powerful admissible exponents method developed by Davenport [4] and Thanigasalam [14], we establish the following theorem.

**Theorem 1.1** Let  $\mathcal{N}_1 \equiv 1 \pmod{3}$ ,  $\mathcal{N}_2 \equiv 2 \pmod{3}$ ,  $\mathcal{N}_3 \equiv 0 \pmod{3}$ . All sufficiently large integers  $\mathcal{N}_1$ ,  $\mathcal{N}_2$ , and  $\mathcal{N}_3$  are representable in the forms

$$\mathcal{N}_1 = \sum_{k=1}^{s} p_k^{2k}, \quad \mathcal{N}_2 = \sum_{k=1}^{s+1} p_k^{2k}, \quad \mathcal{N}_3 = \sum_{k=1}^{s+2} p_k^{2k}, \quad (1.2)$$

where s=2224 and the p's are primes.

Acknowledgements. Part of this paper was written while Qiyu Yang was a Visiting Researcher at the Henan Academy of Sciences. The authors would like to thank Professors Tianze Wang and Zhiyong Zheng for their constant encouragement and insightful comments. The authors also thank the members of the Institute of Mathematics for their hospitality.

### 2 Preliminaries

**Definition 1** [14, Definition A] Given natural numbers  $k_1, \dots, k_s$  with  $2 \le k_s \le \dots \le k_2 \le k_1 \ (s \ge 2)$  and real numbers  $\nu_1, \dots, \nu_s$  with  $0 < \nu_i \le 1 \ (i = 1, \dots, s)$ , the pairs  $(k_1, \nu_1), \ (k_2, \nu_2), \ \dots, \ (k_s, \nu_s)$  are said to form admissible exponents, if for every large positive Z and every  $\epsilon > 0$ , the number of solutions of the equation

$$x_1^{k_1} + x_2^{k_2} + \dots + x_s^{k_s} = y_1^{k_1} + y_2^{k_2} + \dots + y_s^{k_s}$$

subject to

$$Z^{\nu_i/k_i} \le x_i \le 2Z^{\nu_i/k_i}, \quad Z^{\nu_i/k_i} \le y_i \le 2Z^{\nu_i/k_i}, \quad (i = 1, 2, \cdots, s),$$

is

$$\ll Z^{(\sum_{i=1}^{s} \nu_i/k_i)+\epsilon}.$$

Let

$$K_1 = \{12, 14, \cdots, 40\}, \quad K_2 = \{42, 44, \cdots, 4446\}.$$
 (2.1)

By [14, Theorem 3], we get the following lemma.

**Lemma 2.1** There exist numbers  $\nu_k$  ( $k \in K_1 \cup K_2$ ) satisfying

$$\alpha_1 = \sum_{k \in K_1} \frac{\nu_k}{k} > 0.508926, \quad \alpha_2 = \sum_{k \in K_2} \frac{\nu_k}{k} > 0.905733, \tag{2.2}$$

such that

(1)  $\{k, \nu_k\}$  with  $k \in K_1$  form pairs of admissible exponents;

(2)  $\{k, \nu_k\}$  with  $k \in K_2$  form pairs of admissible exponents.

Let  $K_3 = \{8, 10\} \cup K_2$ . We have the following lemma.

**Lemma 2.2** There exist numbers  $\nu'_{k}$   $(k \in K_3)$  satisfying

$$0 < \nu_{k}^{'} \le 1, \quad \nu_{8}^{'} = 1, \quad 0.876157 < \nu_{10}^{'} < 0.876158, \quad \sum_{k \in K_{3}} \frac{\nu_{k}^{'}}{k} = \alpha_{3} > \frac{89}{96} + \frac{1}{10^{6}} \quad (2.3)$$

such that  $\{(k,\nu'_k)\}\ (k \in K_3)$  form pairs of admissible exponents.

**Proof** By [4, Theorem 2], we obtain this lemma.

#### 2.1 Notation

p denotes a prime number. Let  $\theta$  be a small positive constant.  $\alpha$ ,  $\beta$  denote real numbers, and  $\epsilon$  is a small positive number. N is a large positive number, and we write  $L = \log N$ .  $C_0, C_1, \ldots$ , are positive constants. We use the abbreviations

$$e(\alpha) := e^{2\pi i \alpha}, \quad e_q(\alpha) := e(a/q).$$

 $\nu_k \ (k \in K_1 \cup K_2)$  be defined in Lemma 2.1,  $\nu_k^{'} \ (k \in K_3)$  be defined in Lemma 2.2 and

$$\nu_2 = \nu_4 = \nu_6 = 1$$

We define  $(a \leq q, \text{ and } (a,q) = 1)$ 

$$2P_k := N^{\frac{\nu_k}{k}}, \quad f_k := f_k(\alpha) = \sum_{\substack{P_k \le x \le 2P_k}} e(\alpha x^k),$$
$$J_k := J_k(\beta) = \sum_{\substack{(P_k)^k \le y \le (2P_k)^k}} \frac{1}{k} y^{\frac{1}{k} - 1} e(\beta y), \quad S_k := S_k(a, q) = \sum_{x=1}^q e_q(ax^k), \quad (2.4)$$
$$h_k := h_k(\alpha, a, q) = q^{-1} S_k(a, q) J_k\left(\alpha - \frac{a}{q}\right).$$

Define (for  $k \in K_3$ )

$$u_{k} := u_{k}(\alpha) = \sum_{\substack{P'_{k} \le x \le 2P'_{k}}} e(\alpha x^{k}), \quad 2P'_{k} = N^{\nu'_{k}/k},$$
  
$$G_{k} := G_{k}(\beta) = \sum_{\substack{(P'_{k})^{k} \le y \le (2P'_{k})^{k}}} \frac{1}{k} y^{\frac{1}{k}-1} e(\beta y),$$
  
(2.5)

$$t_k := t_k(\alpha, a, q) = q^{-1} S_k(a, q) G_k\left(\alpha - \frac{a}{q}\right)$$

We denote by

$$F(\alpha) := F_1(\alpha)F_2(\alpha) \tag{2.6}$$

with

$$F_1(\alpha) := f_2\Big(\prod_{k \in K_1} f_k\Big), \quad F_2(\alpha) := f_4 f_6 F_3(\alpha), \quad F_3(\alpha) := f_8 u_{10}\Big(\prod_{k \in K_2} u_k\Big). \tag{2.7}$$

Let

$$Q := N^{7/8+\theta}, \ \tau := 1/8 - 2\theta, \tag{2.8}$$

and subdivide the interval

$$Q^{-1} \le \alpha \le 1 + Q^{-1} \tag{2.9}$$

as follows: For  $q \leq N^{\tau}$ , let  $\mathfrak{M}_{a,q}$  denote the interval  $\alpha = \frac{a}{q} + \beta$ ,  $|\beta| \leq (qQ)^{-1}$ , and denote the aggregate of all  $\mathfrak{M}_{a,q}$ 's by  $\mathfrak{M}$ . It can be proved in the standard way that any two  $\mathfrak{M}_{a,q}$ 's are disjoint. Let  $\mathfrak{m}$  denote the complement of  $\mathfrak{M}$  in (2.9). Also denote the complement of  $\mathfrak{M}_{a,q}$  in (2.9) by  $\mathfrak{m}_{a,q}(q \leq N^{\tau})$ .

We define

$$B_{1}(q) = \sum^{*} q^{-5-3/4-1/5} |S_{6}|^{2} |S_{8}|^{2}; \quad B_{2}(q) = \sum^{*} q^{-5-5/12-1/5} |S_{8}|^{2};$$

$$B_{3}(q) = \sum^{*} q^{-5-7/12-1/5} |S_{6}| |S_{8}|^{2}; \quad B_{4}(q) = \sum^{*} q^{-4+2\theta-1/5} |S_{6}|^{2};$$

$$B_{5}(q) = \sum^{*} q^{-3-2/3+2\theta-1/5}; \quad B_{6}(q) = \sum^{*} q^{-4+1/6-1/5+2\theta} |S_{6}|; \quad (2.10)$$

$$B_{7}(q) = \sum^{*} q^{-5-1/5} |S_{4}|^{2} |S_{8}|^{2}; \quad B_{8}(q) = \sum^{*} q^{-3-1/4-1/5} |S_{4}|^{2};$$

$$B_{9}(q) = \sum^{*} q^{-5-3/4-1/5+\theta} |S_{4}|^{2} |S_{6}|^{2}; \quad B_{10}(q) = \sum^{*} q^{-6-1/5} |S_{4}|^{2} |S_{6}|^{2} |S_{8}|^{2},$$

$$B_{9}(q) = \sum^{*} q^{-5-3/4-1/5+\theta} |S_{4}|^{2} |S_{6}|^{2}; \quad B_{10}(q) = \sum^{*} q^{-6-1/5} |S_{4}|^{2} |S_{6}|^{2} |S_{8}|^{2},$$

$$B_{9}(q) = \sum^{*} q^{-5-3/4-1/5+\theta} |S_{4}|^{2} |S_{6}|^{2}; \quad B_{10}(q) = \sum^{*} q^{-6-1/5} |S_{4}|^{2} |S_{6}|^{2} |S_{8}|^{2},$$

$$B_{9}(q) = \sum^{*} q^{-5-3/4-1/5+\theta} |S_{4}|^{2} |S_{6}|^{2}; \quad B_{10}(q) = \sum^{*} q^{-6-1/5} |S_{4}|^{2} |S_{6}|^{2} |S_{8}|^{2},$$

$$B_{9}(q) = \sum^{*} q^{-5-3/4-1/5+\theta} |S_{4}|^{2} |S_{6}|^{2}; \quad B_{10}(q) = \sum^{*} q^{-6-1/5} |S_{4}|^{2} |S_{6}|^{2} |S_{8}|^{2},$$

$$B_{9}(q) = \sum^{*} q^{-5-3/4-1/5+\theta} |S_{4}|^{2} |S_{6}|^{2}; \quad B_{10}(q) = \sum^{*} q^{-6-1/5} |S_{4}|^{2} |S_{6}|^{2} |S_{8}|^{2},$$

$$B_{9}(q) = \sum^{*} q^{-5-3/4-1/5+\theta} |S_{4}|^{2} |S_{6}|^{2}; \quad B_{10}(q) = \sum^{*} q^{-6-1/5} |S_{4}|^{2} |S_{6}|^{2} |S_{8}|^{2},$$

$$B_{9}(q) = \sum^{*} q^{-5-3/4-1/5+\theta} |S_{4}|^{2} |S_{6}|^{2}; \quad B_{10}(q) = \sum^{*} q^{-6-1/5} |S_{4}|^{2} |S_{6}|^{2} |S_{8}|^{2},$$

$$B_{9}(q) = \sum^{*} q^{-6-1/5} |S_{4}|^{2} |S_{6}|^{2};$$

where the notation  $\sum^*$  means  $\sum_{\substack{1 \le a \le q \\ (a,q)=1}}$ .

**Lemma 2.3** [15, Lemma 4.1] Suppose that  $p \nmid a$  and  $k \geq 3$ . Then

 $|S_k(a,p)| \le k\sqrt{p}.$ 

**Lemma 2.4** [15, Lemma 4.4] Suppose that  $k \ge 3$  and (a,q) = 1. Then  $S_k(a,q) \ll q^{1-1/k}$ .

**Lemma 2.5** [15, Lemma 4.5] Suppose that  $(a_1, q_1) = (a_2, q_2) = (q_1, q_2) = 1$ . Then  $S_k(a_1q_2 + a_2q_1, q_1q_2) = S_k(a_1, q_1)S_k(a_2, q_2).$ 

**Lemma 2.6** [15, Lemma 10.1] Suppose that f(q) is a non-negative multiplicative function of q and  $\sum_{h=0}^{\infty} f(p^h)$  exists for every prime p. Then, when  $X \ge 1$ ,

$$\sum_{l \le X} f(l) \le \prod_{p \le X} \sum_{h=0}^{\infty} f(p^h)$$

55

**Lemma 2.7**  $B_1(q), B_2(q), \dots, B_{10}(q)$  are multiplicative.

**Proof** If follows easily from (2.10) and Lemma 2.5.

**Lemma 2.8** For k = 4, 6 and  $8, |\beta| \le 1/2$ ,

$$J_k(\beta) \ll \min(N^{1/k}, N^{1/k-1}|\beta|^{-1}), \quad h_k(\alpha, a, q) \ll q^{-1/k} N^{1/k} \min(1, N^{-1}|\beta|^{-1}),$$
$$f_k(\alpha) - h_k(\alpha, a, q) \ll q^{1-1/k+\theta} \quad (if q \le N^{1/k-\theta}, |\beta| \le q^{-1} N^{1/k-1-\theta}),$$

and

$$t_{10}(\alpha, a, q) \ll q^{-1/10} N^{\nu'_{10}/10} \min(1, N^{-\nu'_{10}} |\beta|^{-1}).$$

**Proof** See Lemma 5 in [14].

Lemma 2.9

$$\sum_{1 \le x \le P} e_q(ax^k) - \frac{P}{q} S_k(a,q) \ll q^{1/2 + \epsilon}$$

**Proof** See the main theorem in [7].

**Lemma 2.10** For k = 4, 6 and 8,

$$f_k(\alpha) - h_k(\alpha, a, q) \ll q^{1/2+\epsilon} \{ \max(1, N|\beta|) \}$$

and

$$u_{10}(\alpha) - t_{10}(\alpha, a, q) \ll q^{1/2+\epsilon} \max(1, N^{\nu'_{10}}|\beta|)$$

**Proof** The lemma can be proved by a partial summation with Lemma 2.9.

Lemma 2.11  $On \mathfrak{m}$ ,

$$f_4(\alpha) \ll N^{7/32+\theta/4}, \quad f_6(\alpha) \ll N^{31/192+\theta/6}.$$

**Proof** It follows a similar argument from [15, Lemma 8.2].

**Lemma 2.12** [14, Lemma 21] Let  $K_1 = \{12, 14, \dots, 40\}$  and  $t = \sum_{k \in K_1} (x_k^k - y_k^k)$  with

$$P_k \le x_k \le 2P_k, \quad P_k \le y_k \le 2P_k \quad for \quad k \in K_1.$$

Then

$$\sum_{t\neq 0} d(|S|) \ll N^{\alpha_1} (\log N)^{C_1},$$

where d(n) denotes the divisor function and  $\alpha_1$  is defined in (2.2).

Lemma 2.13 The number of solutions of

$$x_{2}^{2} + \left(\sum_{k \in K_{1}} x_{k}^{k}\right) = y_{2}^{2} + \left(\sum_{k \in K_{1}} y_{k}^{k}\right)$$
(2.11)

with the  $x_k$ 's,  $y_k$ 's subject to

$$P_k \le x_k \le 2P_k, \quad P_k \le y_k \le 2P_k$$

for  $k \in K_1$  and k = 2 is

$$\ll N^{\alpha_1 + 1/2 + \epsilon} (\log N)^{C_1}$$

Proof Using Lemma 2.12 and [14, Lemma 22], we have this lemma.

**Proposition 1** 

$$\int_0^1 |F_1(\alpha)|^2 \, d\alpha \ll N^{-1} (\log N)^{C_1} \{F_1(0)\}^2,$$

where  $C_1$  is a positive contant.

**Proof** By  $N^{2(\alpha_1+1/2)} \ll \{F_1(0)\}^2$ , this proposition follows from Lemma 2.13. By (2.5) and Lemma 2.2, since  $N^{\beta_2} \ll F_3(0)$ ,

$$\int_0^1 |F_3(\alpha)|^2 \, d\alpha \ll N^{\beta_2 + \epsilon} \ll N^{-\beta_2 + \epsilon} \{F_3(0)\}^2.$$
(2.12)

By (2.5), (2.12) and Lemma 2.11, since  $N^{1/4} \ll f_4(0), N^{1/6} \ll f_6(0),$ 

$$\int_{\mathfrak{m}} |F_2(\alpha)|^2 \, d\alpha \ll N^{2 \times (7/32 + \theta/4)} N^{2 \times (31/192 + \theta/6)} \int_0^1 |F_3(\alpha)|^2 \, d\alpha$$

$$\ll N^{-1 + 2/4 + 2/6} \{F_3(0)\}^2 \ll N^{-1} \{F_2(0)\}^2.$$
(2.13)

Lemma 2.14 On  $\mathfrak{M}_{a,q}$ ,

$$u_{10} \ll q^{-1/10} N^{\nu_{10}^{\prime}/10}$$

**Proof** The lemma now follows from (2.3) and Lemma 2.8.

#### Lemma 2.15 On $\mathfrak{M}_{a,q}$ ,

$$\begin{aligned} f_k - h_k &\ll q^{-1/2} N^{1/8}; \quad h_k \ll N^{1/k} q^{-1} |S_k| \min(1, |N|^{-1} |\beta|^{-1}); \quad (k = 4, 6, 8) \\ f_4 + h_4 &\ll q^{-1/4} N^{1/4}; \quad f_6 + h_6 \ll q^{-1/6} N^{1/6}; \quad f_8 + h_8 \ll q^{-1/8} N^{1/8}; \\ f_6^2 &\ll |h_6|^2 + q^{-1} N^{1/4} + |h_6| q^{-1/2} N^{1/8}; \quad f_8^2 \ll |h_8|^2 + q^{7/4 + 2\theta}. \end{aligned}$$

57

**Proof** The lemma is deduced from Lemmas 2.14 and 2.8.

Lemma 2.16 On  $\mathfrak{M}_{a,q}$ ,

$$(f_4^2 f_6^2 f_8^2 - h_4^2 h_6^2 h_8^2) u_{10}^2 \ll q^{-1/5} N^{2\nu_{10}'/10} (\mathcal{L}_1 + \mathcal{L}_2 + \mathcal{L}_3),$$

where

$$\begin{split} \mathcal{L}_{1} = & (f_{4} - h_{4})(f_{4} + h_{4})f_{6}^{2}f_{8}^{2} \\ \ll & N^{2\varrho} \left\{ q^{-5-3/4} |S_{6}|^{2} |S_{8}|^{2} + q^{-5-5/12} |S_{8}|^{2} + q^{-5-7/12} |S_{6}| |S_{8}|^{2} \\ & + q^{-4+2\theta} |S_{6}|^{2} \right\} \min(1, |N|^{-1}|\beta|^{-1})^{2} + N^{2/4+2/6+1/8} \left\{ q^{-8/3+2\theta} + q^{-2-5/6+2\theta} |S_{6}| \right\}, \\ \mathcal{L}_{2} = & (f_{6} - h_{6})(f_{6} + h_{6})h_{4}^{2}f_{8}^{2} \ll N^{2\varrho} \left\{ q^{-5} |S_{4}|^{2} |S_{8}|^{2} + q^{-3-1/4} |S_{4}|^{2} \right\} \min(1, |N|^{-1}|\beta|^{-1})^{2}, \\ \mathcal{L}_{3} = & (f_{8} - h_{8})(f_{8} + h_{8})h_{4}^{2}h_{6}^{2} \ll q^{-5-3/4+\theta}N^{2\varrho} |S_{4}|^{2} |S_{6}|^{2} \min(1, |N|^{-1}|\beta|^{-1})^{2}, \\ and \ \varrho := 1/4 + 1/6 + 1/8. \end{split}$$

**Proof** This is deduced in a standard way from the above two lemmas.

Lemma 2.17 For  $i = 1, 2, \dots, 10$ ,

$$\sum_{q \le N^{\tau}} B_i(q) \ll 1. \tag{2.14}$$

**Proof** By Lemma 2.4 and (2.10),

$$0 \le B_1(q) \ll q^{-5-3/4 - 1/5 + 7/4 + 5/3 + 1} \ll q^{-23/15}.$$
(2.15)

In fact, we can get the desired bound from this upper bound since the power is less than -1. But it is not the case for some of others,  $B_8$  for example. Thus, we write here a general argument suitable for all.

It follows that  $\sum_{h=0}^{\infty} B_1(p^h)$  exists for every prime p and

$$\sum_{h=2}^{\infty} B_1(p^h) \ll p^{-46/15}.$$
(2.16)

By Lemma 2.3 and (2.10),

$$0 \le B_1(p) \ll p^{-5-3/4-1/5} (\sqrt{p})^2 (\sqrt{p})^2 p \ll p^{-59/20}.$$
(2.17)

Clearly  $B_1(1) = 1$ . Hence, by (2.16) and (2.17),

$$\sum_{h=0}^{\infty} B_1(p^h) \ll 1 + C_2 p^{-59/20}.$$
(2.18)

By Lemmas 2.6, 2.7 and (2.18), we have

$$\sum_{q \le N^{\tau}} B_1(q) \le \prod_{p \le N^{\tau}} \sum_{h=0}^{\infty} B_1(p^h) \le \prod_{p \le N^{\tau}} (1 + C_2 p^{-59/20}) \ll 1.$$

The other terms in (2.14) can be treated in the same way.

59

Lemma 2.18

$$\sum_{q \le N^{\tau}} \sum_{\substack{1 \le a \le q \\ (a,q)=1}} \int_{\mathfrak{M}_{a,q}} \left| (f_4^2 f_6^2 f_8^2 - h_4^2 h_6^2 h_8^2) u_{10}^2 \right| d\alpha \ll N^{2\eta - 1},$$
(2.19)

and

$$\sum_{q \le N^{\tau}} \sum_{\substack{1 \le a \le q \\ (a,q)=1}} \int_{\mathfrak{M}_{a,q}} |h_4^2 h_6^2 h_8^2 u_{10}^2| \, d\alpha \ll N^{2\eta-1}.$$
(2.20)

where  $\eta := 1/4 + 1/6 + 1/8 + \nu'_{10}/10$ .

**Proof** (2.19) follows in a similar manner from Lemmas 2.16 and 2.17. (2.20) is again deduced in a standard way from Lemmas 2.14, 2.15, and 2.17 using the estimate

$$h_4^2 h_6^2 h_8^2 u_{10}^2 \ll N^{2\eta} q^{-6-1/5} |S_4|^2 |S_6|^2 |S_8|^2 \min(1, N^{-1} |\beta|^{-1})^2.$$

Thus we have the result.

It now follows from Lemma 2.18 that,

$$\sum_{q \le N^{\tau}} \sum_{\substack{1 \le a \le q \\ (a,q)=1}} \int_{\mathfrak{M}_{a,q}} |f_4^2 f_6^2 f_8^2 u_{10}^2| \, d\alpha \ll N^{-1} \left\{ f_4(0) f_6(0) f_8(0) u_{10}(0) \right\}^2 \tag{2.21}$$

by  $N^{\eta} \ll f_4(0) f_6(0) f_8(0) u_{10}(0)$ . Now, using the trivial estimate

$$\prod_{k \in K_2} u_k(\alpha) \ll \prod_{k \in K_2} u_k(0),$$

we have from (2.21),

$$\int_{\mathfrak{M}} |F_2(\alpha)|^2 \, d\alpha \ll N^{-1} \{F_2(0)\}^2.$$
(2.22)

**Proposition 2** 

$$\int_0^1 |F_2(\alpha)|^2 \, d\alpha \ll N^{-1} \{F_2(0)\}^2.$$

**Proof** With Q defined by (2.8), we make the same subdivision of the interval  $Q^{-1} \leq \alpha \leq 1 + Q^{-1}$  (into  $\mathfrak{M}$  and  $\mathfrak{m}$ ). Write

$$\int_{Q^{-1}}^{1+Q^{-1}} |F_2(\alpha)|^2 \, d\alpha = \int_{\mathfrak{M}} |F_2(\alpha)|^2 \, d\alpha + \int_{\mathfrak{m}} |F_2(\alpha)|^2 \, d\alpha.$$

The required result follows from (2.13) and (2.22).

## 3 Proof of Theorem 1.1

Let

$$2P_{4448} = N^{1/4448}, \quad U_k = \begin{cases} P_k, & \text{if } k \in \{2, 4, 6, 4448\} \cup K_1; \\ P'_k, & \text{if } k \in \{8, 10\} \cup K_2, \end{cases}$$
(3.1)

where  $K_1$ ,  $K_2$ ,  $P_k$  and  $P'_k$  are defined by (2.1), (2.4) and (2.5).

Write

$$\hat{f}_k = \hat{f}_k(\alpha) = \sum_{U_k \le p \le 2U_k} e(\alpha p^k) \text{ for } k = 2i, \quad 1 \le i \le 2224,$$
(3.2)

and

$$C_2 = C_1/2, \quad C_3 = 2^{6 \times 4448} (C_2 + 2226), \quad L = \log N, \quad \hat{F}(\alpha) = \prod_{i=1}^{2224} \hat{f}_{2i}(\alpha).$$
 (3.3)

Subdivide the interval

$$N^{-1}L^{C_3} \le \alpha \le 1 + N^{-1}L^{C_3} \tag{3.4}$$

into basic intervals  $\mathfrak{M}_{a,q}^{\dagger}$  for  $q \leq L^{C_3}$  with  $\alpha = a/q + \beta$ ,  $|\beta| \leq q^{-1}N^{-1}L^{C_3}$  and denote the union of  $\mathfrak{M}_{a,q}^{\dagger}$ 's (these being disjoint) by  $\mathfrak{M}^{\dagger}$ ; the supplementary intervals  $\mathfrak{m}^{\dagger}$  denotes the complement of  $\mathfrak{M}^{\dagger}$  in (3.4).

Let

$$R^{\dagger}(N) := \int_{N^{-1}L^{C_3}}^{1+N^{-1}L^{C_3}} \hat{F}(\alpha)e(-N\alpha) \, d\alpha$$
  
= 
$$\int_{\mathfrak{M}^{\dagger}} \hat{F}(\alpha)e(-N\alpha) \, d\alpha + \int_{\mathfrak{m}^{\dagger}} \hat{F}(\alpha)e(-N\alpha) \, d\alpha.$$
 (3.5)

As in Lemma 7 and its corollary in [12] (with slight modifications), we have on  $\mathfrak{m}^{\dagger}$ ,

$$\hat{f}_{4448}(\alpha) \ll N^{1/4448} L^{-C_2 - 2225}.$$
 (3.6)

Replacing (33) and (34) in [12] by Propositions 1 and 2, and arguing as in section 8 of [12], we have from (3.3) and (3.6)

$$\int_{\mathfrak{m}^{\dagger}} |\hat{F}(\alpha)| \, d\alpha \ll N^{-1+1/4448} \{F_1(0)F_2(0)\} L^{-2225}.$$
(3.7)

Also, by (2.4), (2.5) and (3.1),

$$L^{C_3} \ll (\log U_k)^{C_3} \ll L^{C_3}$$
 and  $N^{-1}L^{C_3} \ll U_k^{-k} (\log U_k)^{C_3}$ ,

for  $1 \le i \le 2224$ , k = 2i.

Let  $\varphi(q)$  be Euler's totient function, we have by Lemma 8 of [12], on  $\mathfrak{M}^{\dagger}$ ,

$$\hat{f}_k(\alpha) - \hat{h}_k(\alpha) \ll N e^{-C_4 \sqrt{L}}$$
 for  $1 \le i \le 2224$ ,  $k = 2i$   $(C_5 > 0)$ , (3.8)

where  $\hat{h}_k(\alpha)$  is the approximating function corresponding to  $\hat{f}_k$  given by

$$\hat{h}_k(\alpha, a, q) = \{\varphi(q)\}^{-1} \Big\{ \sum_{\substack{x=1\\(x,q)=1}}^q e_q(ax^k) \Big\} \Big\{ \sum_{\substack{U_k^k \le y \le (2U_k^k)^k}} y^{1/k-1} (\log y)^{-1} e(\beta y) \Big\}.$$

Let  $M_s(p^{\gamma}, N) = M_s(p^{\gamma}, N; k_1, k_2, \cdots, k_s)$  denote the number of solutions of the congruence

$$x_1^{k_1} + x_2^{k_2} + x_3^{k_3} + \dots + x_s^{k_s} \equiv N \pmod{p^{\gamma}},$$
(3.9)

where  $0 < x_i < p^{\gamma}$  and  $p \nmid x_1 x_2 \cdots x_s$ .

Let  $p^{\lambda_i} || k_i$ , and write

$$\gamma_i = \begin{cases} \lambda_i + 2, & \text{if } p = 2 \text{ and } 2|k_i; \\ \lambda_i + 1, & \text{otherwise,} \end{cases} \quad \text{and} \quad \gamma = \min(\gamma_1, \gamma_2, \cdots, \gamma_s). \tag{3.10}$$

Then  $\gamma = 3$  for p = 2 and  $k_i \in \{2, 4, \dots, 4448\}$ . Also,  $\gamma = 1$  for  $p \geq 3$  and  $k_i \in \{2, 4, \dots, 4448\}$ . Hence if  $M_{2224}(p^{\gamma}, N) > 0$  for each prime p (note that the premises of Lemmas 16, 19, 20 in [12] are satisfied), it would follow as in [12] that

$$\Re\left(\int_{\mathfrak{M}^{\dagger}} \hat{F}(\alpha) e(-N\alpha) \, d\alpha\right) \gg N^{-1+1/4448} \{F_1(0)F_2(0)\} L^{-2224}.$$
(3.11)

Then, from (3.5), (3.7) and (3.11) we get  $R^{\dagger}(N) > 0$  for large N provided  $M_{2224}(p^{\gamma}, N) > 0$  for each prime p.

The argument is completed as follows: Let  $\mathcal{N}_1 \equiv 1 \pmod{3}$ , and  $p \geq 5$ .  $M_{2224}(p, N)$  denotes the number of solutions of the congruence

$$\left(\sum_{k=1}^{2224} x_k^{2k}\right) \equiv N \pmod{p}, \quad 0 < x_k < p \text{ for } 1 \le k \le 2224.$$
 (3.12)

By Lemma 8.4 of [8], for each prime p,  $x_k^{2k}$   $(0 < x_k < p)$  has  $\frac{p-1}{(2k,p-1)}$  distinct residue classes mod p  $(1 \le k \le 2224)$ . Hence, applying Lemma 8.4 of [8] repeatedly (2223 times), we see that the number J(p) of distinct residue classes mod p of  $(\sum_{k=1}^{2224} x_k^{2k})$  $(0 < x_k < p)$  satisfies

$$J(p) \ge \min\left(\sum_{k=1}^{2224} \left\{ \frac{p-1}{(2k,p-1)} \right\} - 2223, p \right).$$
(3.13)

Now

$$\frac{p-1}{(2k,p-1)} \ge \frac{p-1}{2k}$$
 and  $\sum_{k=1}^{2224} \frac{1}{2k} > 4.$ 

Hence, from (3.13),

$$J(p) \ge \min(4(p-1) - 2223, p).$$
(3.14)

Also 4(p-1) - 2223 > p if  $p \ge 743$ ; so that by (3.14),

$$M_{2224}(p,N) > 0 \quad \text{for} \quad p \ge 743.$$
 (3.15)

For primes  $5 \le p < 743$ , it is an easy verification (by use of Lemmas 8.4 and 8.7 of [8]) that

$$M_{2224}(p,N) > 0. (3.16)$$

For p = 3, by use of Lemma 8.4 in [8], when  $x_k$  runs through 1, 2 (mod 3),  $x_k^{2k}$  runs through (3-1)/(2k, 3-1) mutually incongruent numbers mod 3 (for  $1 \le k \le 2224$ ). We see that

$$x_k^{2k} \equiv 1 \pmod{3}$$
 for  $1 \le k \le 2224$ ,  $x_k \equiv 1 \text{ or } 2 \pmod{3}$ .

Hence

$$x_1^2 + x_2^4 + x_3^6 + \dots + x_{2224}^{4448} \equiv \mathcal{N}_1 \pmod{3},$$
 (3.17)

where  $\mathcal{N}_1 \equiv 1 \pmod{3}$ .

For p = 2, we note that  $1^2 \equiv 1 \pmod{8}$ ,  $2^2 \equiv 4 \pmod{8}$ ,  $3^2 \equiv 1 \pmod{8}$ ,  $4^2 \equiv 0 \pmod{8}$ ,  $5^2 \equiv 1 \pmod{8}$ ,  $6^2 \equiv 4 \pmod{8}$ ,  $7^2 \equiv 1 \pmod{8}$ . The congruence

$$x_1^2 + x_2^4 + x_3^6 + \dots + x_{2224}^{4448} \equiv \mathcal{N}_1 \pmod{2^3}$$
(3.18)

has solutions for all sufficiently large integers  $\mathcal{N}_1$ .

Combining (3.15), (3.16), (3.17) and (3.18), we can get  $M_{2224}(p^{\gamma}, \mathcal{N}_1) > 0$  for all sufficiently large integers  $\mathcal{N}_1$ .

Similar argument holds for the cases  $\mathcal{N}_2 \equiv 2 \pmod{3}$  and  $\mathcal{N}_3 \equiv 0 \pmod{3}$ .

Thus, all sufficiently large integers  $\mathcal{N}_1 \equiv 1 \pmod{3}$ ,  $\mathcal{N}_2 \equiv 2 \pmod{3}$ ,  $\mathcal{N}_3 \equiv 0 \pmod{3}$  are representable in the forms

$$\mathcal{N}_1 = \sum_{k=1}^{s} p_k^{2k}, \quad \mathcal{N}_2 = \sum_{k=1}^{s+1} p_k^{2k}, \quad \mathcal{N}_3 = \sum_{k=1}^{s+2} p_k^{2k},$$

where s = 2224 and the *p*'s are primes.

### References

- J. Brüdern, Sums of squares and higher powers II, J. Lond. Math. Soc. 35 (1987), 244-250.
- [2] J. Brüdern, A problem in additive number theory, Math. Proc. Cambridge Philos. Soc. 103 (1988), 27-33.
- [3] J. Brüdern, Even ascending powers, Number Theory Week 2017, Banach Center Publications, 2019.
- [4] H. Davenport, On sums of positive integral k-th powers, Amer. J. Math. 64 (1942), 189-198.

- [5] K.B. Ford, The representation of numbers as sums of unlike powers, J. Lond. Math. Soc. 51 (1995), 14-26.
- [6] K.B. Ford, The representation of numbers as sums of unlike powers. II, J. Amer. Math. Soc. 9 (1996), 919-940.
- [7] L.K. Hua, On exponential sums, Science Record (N.S), Vol. I, No. 1 (1957), 1-4.
- [8] L.K. Hua, Additive theory of prime numbers, Translations of Mathematical Monographs, Vol. 13, American Mathematical Society, Providence, R.I., 1965.
- [9] C. Kuan, D. Lesesvre and X. Xiao, Sums of ascending even powers, ArXiv preprint (2020), arXiv:2001.02429.
- [10] J. Liu and L. Zhao, Representation by sums of unlike powers. J. Reine Angew. Math. 781 (2021), 19-55.
- [11] K.F. Roth, A Problem in Additive Number Theory, Proc. Lond. Math. Soc. 53 (1951), 381-395.
- [12] K. Thanigasalam, A generalization of Warning's problem for prime powers, Proc. Lond. Math. Soc. 16 (1966), 193-212.
- [13] K. Thanigasalam, On additive number theory, Acta Arith. 13 (1968), 237-258.
- [14] K. Thanigasalam, On sums of powers and a related problem, Acta Arith. 36 (1980), 125-141.
- [15] R.C. Vaughan, On the representation of numbers as sums of powers of natural numbers, Proc. Lond. Math. Soc. 21 (1970), 160-180.
- [16] R.C. Vaughan, On sums of mixed powers, J. Lond. Math. Soc. 3 (1971), 677-688.

**Open Access** This chapter is licensed under the terms of the Creative Commons Attribution-NonCommercial 4.0 International License (http://creativecommons.org/licenses/by-nc/4.0/), which permits any noncommercial use, sharing, adaptation, distribution and reproduction in any medium or format, as long as you give appropriate credit to the original author(s) and the source, provide a link to the Creative Commons license and indicate if changes were made.

The images or other third party material in this chapter are included in the chapter's Creative Commons license, unless indicated otherwise in a credit line to the material. If material is not included in the chapter's Creative Commons license and your intended use is not permitted by statutory regulation or exceeds the permitted use, you will need to obtain permission directly from the copyright holder.

